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MATH-131 TEST 4 (Assignment sheet: 2.5-6.7)
SAMPLE 2014
100 points NAME:
Show ail work. On problems where a check is required, you must show your check.
CIRCLE T FOR TRUE, F FOR FALSE. ( 2 POINTS EACH )
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Fill in the blank with the most appropriate, simplified answer. ( 2 points each) s
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(16) Simplify: (2 pomts each)
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(17) Soive.
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(18) Factor cor;'\pleteiy:i (2 points each)
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(2 points each)
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(20) Solve: Express the answer using interval notation. No credit given without proper work
showr

(4 points each)




{a) Ix2+Gx<2

4-3(x4)>4 ‘OR 3x> 2x +4
gx—2<0
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{21} For this problem only do N T assume all variables represent positive numbers. Simplify.

R (3 pomts each)
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(22) Simplify. Assume all variables represent positive real numbers. (3 points each)
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(23) For the function f(x)=vx-3 .

‘ - -3 >0
a) Find the domainof f.__ X = 0 X f ; 2 (2 points)
L - -
b) Find f(x+h) = _yﬁ_gih:?__ (2 points)

¢)) graph f(x) . Show scale and fabel two points on graph (4 points)

{24) Solve. Express answer using interval notation.
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{a) Sx2=1-3x
S tix—~l =0

X= ~3tVqi20 - 3te

Kb) X2+4x4+9=0
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(e) 2x2+5x-3=0
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